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1. Read the passage carefully and answer the questions.

Caged behind thick glass, the most famous dancer in the world can easily be missed in the
National Museum, Delhi. The Dancing Girl of Mohenjodaro is a rare artifact that even
schoolchildren are familiar with. Our school textbooks also communicate the wealth of our
5000-year heritage of art. You have to be alert to her existence there, amid terracotta animals
to rediscover this bronze image.

One discovers that the dancing girl has no feet. She is small, a little over 10 cm tall — the
length of a human palm — but she surprises us with the power of great art — the ability to
communicate across centuries.

A series of bangles — of shell or ivory or thin metal — clothe her left upper way down to her
fingers. A necklace with three pendants bunched together and a few bangles above the elbow
and wrist on the right-hand display almost modern art.

She speaks of the undaunted ever hopeful human spirit. She reminds us that it is important to
visit museums in our country to experience the impact that a work of art leaves on our senses,
to find among all the riches one particular vision of beauty that speaks to us alone.

a) Select the option that displays the information not given in the passage.
i) The girl is caged behind glass.

il) She is a rare artifact.

iii) School books communicate the wealth of our heritage.

iv) She cannot be rediscovered as she’s artwork.

Ans

b) On the basis of your reading of the given passage, write any one interesting fact about the
Dancing girl of Mohenjo-Daro.

Ans

¢) What does the dancing girl remind us? Mention any two points from the passage.

i.

ii.

d) Find the word from the last para which means the same as the following.

‘Still determined, despite difficulties, dangers and disappointment.’
Ans

e) Which of these is FALSE?



1) The dancing girl has no feet.

ii) She is small.

iii) She is little bigger than the human palm.

iv) She is a little over 10 cm tall.

Ans

(H)In the question below, there are two statements marked as Assertion (A) and Reason (R).
Read the statements carefully and choose the correct option.
Assertion (A): Great Art has power

Reason (R): It has the ability to communicate across centuries.

(A) Both A and R are true, and R is the correct explanation of A.
(B) Both A and R are true, but R is not the correct explanation of A.
(C) A is true, but R is false.

(D) A is false, but R is true.

Ans

2. Fill in the blanks with the appropriate tenses of the verbs given in the brackets.

(a) We for the train for two hours now. (wait)
(b) Mr Sharma a novel these days. (write)

(c) The children the room before the guests arrived. (clean)
(d) 1 a model of the market place at 6.00 p.m. yesterday. (make)
(e) By the year 2100, digital books the printed books. (replace)

(f) The outcome depends on how we ourselves. (prepare)

3. The following passage has not been edited. There is an error in each line. Write the
wrong words as well as the corrected ones in the space provided.

Incorrect correct

I come in very late last night.

Unfortunately the dog wake up and

it started to bark. This awake my

mother. She go back to her room

and telephone the police.
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4. Answer the following questions.

(a) Why did the king go to the wise hermit? Why did he go there alone and dressed like a
commoner?

Ans

(b) Who was the bearded man who came running from the woods? How had he got
wounded?
Ans

(c ) Read the extract given below and answer the questions that follow.

“We sighed with relief and tucked her up well.
Poor Granny! For her, it was like a brief season in hell,

(a) Why did the narrator and his family ‘sigh in relief”?
Ans

(b) Why was Granny confined to bed? Why did she find it ‘a brief season in hell’?
Ans

(c) How did she finally get rid of this ‘season in hell’?
Ans

5. Briefly explain the answers the king got to his three questions.

Ans

6. “My grandmother was a genius.” Elucidate the statement.

Ans




7. You are Rahul/Renu Sharma, the Cultural Secretary of Kiran Public School, Noida. Your
school is organising an Inter House Debate Competition for the students of classes VI — VIII.
Draft a notice inviting the students to participate. Include all the necessary details.(50 words)

8. You visited a blind school. You were moved to see the conditions of the children there.
Write a diary entry describing your feelings.

Ans
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MULTIPLE CHOICE QUESTIONS
1. The value of V144 +vV1.44 is ?

a.24 b.13.2 ¢.1.32 d. none of these

2. How many non square numbers are there in between n? and (n + 1)°
a.2n b.4n c.3n d. 2n+l

3. Which of the following triplet is a Pythagorean Triplet.

a. (4,5,6) b.(11,60,61) c.(10,8,6) d.bothbandc

4. The square root of 0.09+ 2 x 0.21 +0.49 is

a)v0.09 +10.49 b)2+0.21 ¢)1 d)0.58

5. Assertion (A) : Cube Root of 0.000001 is 0.01
Reason (R) : Cubes of all odd natural numbers are odd.

a) Aand R both are true and R is the correct explanation for A.

b) Aand R both are true but R is not the correct explanation for A.
c) Alistrue but R is false

d) A s false but R is true

SHORT ANSWER QUESTIONS
6. By which smallest number must 5400 be multiplied to make it a perfect cube?

7. Prove that if a number is tripled then its cube is 27 times the cube of the gives number?



LONG ANSWER QUESTIONS
8. Three numbers are to one another as 2:3:4. The sum of their cubes is 33957. Find the numbers.

9. By what least number should 3528 be divided so that the quotient is a perfect square?. Find the square
root of the quotient so obtained.

COMPETENCY BASED QUESTIONS

10. Ram, a skilled carpenter got an order to make cubical boxes. He was excited to get the order as he really
needed some money for his family to celebrate Diwali. In order to buy raw materials for his order, he
borrowed Rs. 5000 from a user and bought the required materials. Next day he started his work. He made a

cubical box of volume 15625 cn.

Based on the above information answer the following questions :
a) What is the cube of an even number given in the story?

b) Find the cube root of last three places in 15625cn
c) Calculate the edge of given cubical box by estimation method
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MULTIPLE CHOICE QUESTIONS
1. Which of the following is not a perfect square?

a) 62500 b)57600 ¢)90000 d)63147
2. The number of zeros in the cube of 1000

a)2 b4 ¢)9 d)10

3. Given that /512 = 83, 3/3.375 = 1.53, find the value of ¥/512 x3/3.375
a)l2 b)9.5 c¢)8 d)15
4. Which of the following is the square root of 70567
a)86 b)34 c)54 d)84
5. Assertion(A) : There are 10 natural numbers lie between 52 and 62,
Reason(R) : The difference between the squares of two consecutive natural numbers is equal to their sum.

a) Aand R both are true and R is the correct explanation for A.

b) Aand R both are true but R is not the correct explanation for A.
c) Alistrue but R is false

d) A s false but R is true

SHORT ANSWER QUESTIONS
6. Find the cube root of 175616 by estimation.

7. Find the square root of each of the following by long division method :
i) 97344 ii) 120409



LONG ANSWER QUESTIONS

8. Find the greatest 6 - digit number which is a perfect square?

9. The Cost of levelling a square lawn at rupees 15 per square meter is Rs 19,935. Find the cost of fencing
the lawn at 22 per meter.

COMPETENCY BASED QUESTIONS
10. The area of a rectangle and a square is equal. The length and the breadth of rectangle are 343 cm and 63
cm respectively.

a) Find the area of the rectangle.
b) Find the length of the side of the square.
c) Find the Perimeter of Square.
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Q1. Which of the following are prokaryotes?
A. Protozoa B. Blue-green algae C. Fungi D. Bacteria
a) AandB b)Band C c)Aand D d)Band D

Q.2 Normal force is an example of—
a) Contact force b) Non-contact force  ¢) Balance force  d) All of them

Q3 The slow process of conversion of dead vegetation into coal is called-
a)Decomposition  b) evolution  ¢) photosynthesis  d) carbonization

Q4. Which of the following is in descending order of the quality of coal?
a)Peat>bituminous>lignite>anthracite
b)Bituminous>peat>lignite>anthracite
¢)Anthracite>bituminous>lignite>peat

d)Lignite>anthracite>bituminous>peat

QS5LAW OF INERTIA is also known as
a)Newton’s 1% law b) law of Galileo c) Aristotle Fallacy d) Galileo’s law of odd numbers.

i.  Option (a) and (b) are correct
ii.  Option (b) & (d) are correct
iii.  Option (c) & (a) are correct
iv.  Allare correct

Q6. All the living matter in a cell is called .
a) Endoplasm b) Protoplasm c¢) Cytoplasm d) Cell sap

Q7. . Which of the following of the following have cell walls?
A. Epidermal cells B. Epithelial cell C. Mesophyll cell D. Liver cell
a) AandB b)Band C c)AandC d)Band D

Q8-Q10 are Assertion-and-Reason Type

Each question consists of two statements, namely, Assertion (A) and Reason (R).For selecting the correct answer, use
the following code:

(a) Both Assertion (A) and Reason (R) are the true and Reason (R) is a correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are the true but Reason (R) is not a correct explanation of Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.

(d) Assertion (A) is false and Reason (R) is true.



Q8. Assertion : Amoeba changes its shape continuously. Reason : Amoeba changes its shape due to formation of
pseudopodia.

Q9. Assertion : Coal , petroleum and natural gas can be prepared in the laboratory from dead organisms.

Reason : They cannot be prepared in laboratory as their formation is a very slow process and conditions for their
formation cannot be created in the laboratory.

Q10. Assertion : Pulling a lawn roller is easier than pushing it.  Reason : Pulling increases the apparent weight and

hence the force of friction.

Q11-Q15 are short questions and needs to be written in 20-30 words.

Q11. State the structure and function of the organelle that contains “the unit of heredity”.

Q12. Differentiate between the two types of Endoplasmic Reiculum.

Q.13. Why it is easier to walk on soft sand if we have a flat shoes rather than shoes with sharp heels (or pencil

heels)?

Q.14 Constituents of petroleum are shown in figure below. Write one use of each constituent.




iv)

v)

vi)

Q.15. Observe the vessels A, B, C, and D shown in Fig. carefully. Volume of water taken in each vessel is as shown.

Arrange them in the order of decreasing pressure at the base of each vessel

I

300mL S50mL S00mL 60mL
A B C n

Q16.The cytoplasm of the cells of a tomato plant contains organelles X having different pigments which impart different
colours to the leaves of the tomato plant and its fruits.

a) What is the general name of the organelles X?

b) What is the (i) name (ii) colour and (iii) function of organelle X present in the leaves of tomato plant?

c) What is the colour of organelles X which are present in the ripe fruits of tomato plant?

Q17. a) What is atmospheric pressure?

b)Two rods A & B having same weight and equal length have different thickness. Rod A is thinner while Rod B is

thicker.They are held vertically on the surface of sand .Which one of them will sink more and why?

c)A force of 100 N is applied on an area of 2m x 2m . compute pressure being applied on the area.



Q18.Differentiate between renewable and non renewable source of energy with examples.

Q19. This is a pie chart about energy sources in country X in the year 2015. Examine it and answer the following

guestions:

—Solar 1%

— Geothermal 5%
~Biomass waste 69
St B v %
Biofuels 20%
R

Wood 24%

Electric Power Hydropower 35%

9%

a) What percentage of fossil fuels did the country X consume that year?

b) Do you find that renewable sources played an important role in the country? Why?

¢) Mention the names of fossil fuels used by this country?

d) Which fossil fuel used by country X is a clean fuel?

Q.20. 1) A brick is 30 cm long , 10 cm wide and 10 cm thick. It weighs 24 N and is lying on the ground
pressure exerted by the brick on the ground.

. Find the

2. A force of 300 N, while acting on an area A, produces a pressure of 1500 Pa. Calculate the magnitude of area A.
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1. Fill in the blanks

a) Human needs and wants are neither in all parts of the world nor
over the years.

b) Resources should be utilised so that after fulfilling our present
requirements, they are conserved for future generations

c) The reforms were introduced in 1909.

d) India has asingle judicial system

e) England is not a republic because its Head of the State is

2. Answer the following questions:
a) Why are human needs neither uniform nor static all over the world?

Ans,

3. Complete the given flow chart

Classification of Resources

'\

* A *

Renewability Origin
|

4. Explain the major sources of information about Modern Indian History.
Ans.

|’b5‘ﬁ |:|,_‘—‘|—|,—‘—\




5. Explain the different procedures of amendment of Indian Constitution.
Ans.

6. Explain the basic features of our Constitution.
Ans.

1. On outline political map of world mark the following
a) Developing country in Asia
b) Developing country in Africa
c) 2 developed countries

WORLD POLITICAL e o o
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1. Multiple choice questions

A) Which one is not a non-renewable resource?

a) Coal b) Petroleum c) Solar energy d) natural gas
B) Human beings are using water for _
a) Generating electricity  b) irrigation  ¢) navigation  d) all the above

C) Freedom of religion makes Indiaa _
a) Socialist State  b) Sovereign State  ¢) Secular State d) Republic

D) In which language was the newspaper ‘Kesari’ published?
a) Hindi b) Gujarati  ¢) Marathi  d) Urdu
E) The book Unhappy Indian was written by-
a) Bankim Chandra b) Bal Gangadhar Tilak c¢) Sarojini Naidu d) Lala Lajpat Rai

2. Utility and value of a resource varies from time to time and place to place, explain.

Ans,

3.Note down the name of some freedom fighters who helped India to become Independent
and also write down slogan in front of the names if any slogan was given by them.

ADnS.




4. Match the following

Column A Column B

You give me blood I shall give | Source of information about
you freedom Modern period
Kesari Lala Lajpat Rai
Un happy Indian Marathi newspaper
Administrative reports of Subhash Chandra Bose
government

5. Differentiate between rigid and flexible constitution.

AnSs.,

6. Mention some challenges which our country is facing in fulfilling the provisions
mentioned in our constitution.

Ans.

7. On an outline political map of the world, locate the following countries from whom India
adopted varied features enshrined in our Constitution.

WORLD POLITICAL Ron e







D.A.V. MODEL SCHOOL, KSTP, ASANSOL
HOLIDAY HOME WORK (SUMMER VACATION)
SESSION: 2023-2024
WORK SHEET NO.:-1
SUBJECT: SANSKRIT CLASS: VIII

Name Roll No: Section:

1.37eNfAf@ad g ufsear weamm saufor o -
uTaTfearafa deraa Rarm,
Tew fepgfar oAl
I T 7 eI Gara e,
feaaearofe yaafed ded:|
(3T)TFICH SR
(i) Gleama FEA HarRafa?

3

(i) GleHT Pl YheATd?

(3) qUETERe 3R

(i) God: HET 3G T8I0 Jdgled?

(i) Ffer T Aegfa?

) farara foEa -



() FeHT: HY AT TJooid?

(ii) TEPT HIEL TEH IAA?

3.3fAA Frh: e v IdUTT?




|
(i) STeTepT: Il Tofed de TR el

3

(ii) 5 Tawme AT

(iii) OTT: ITSET 3ITHH I

3

5. AsoNId: 3R Ieagverfe Rcar Reavueniar wa=d-
(i) aareT|

(i) caH Tofa?

(iii) Fg: TSt

(i) geaTToT 31T | (Fr+aFcan)
(&) diear (@) frcar (31) afcar
(ii) &: FUITT|(§H+ Fcal)




7. 3R uigeT Rcar Ty Redqeaena a«-

(@) T oer Hr !

()  @Ug (i) T (iii) HEATH (iv) o:

@) | BTET: GAYATOT gfSear IaRIfor |
() Forarfa (i) for@f@ (iii) for@far (iv) for@fea

8. AT 3T afsear wearare sefer forare -

Al Hafd| FI: J I Teoid| G TSI Tediod | DA FAATS Hafed Har=
T fahdfed| T ST FEEEH RS ed| A 3ol © Satad: HHled| qider: s
fassfed| areehr: Hiseiard ¥ gA meslad| EA 3T fAfaur 3R aefedl wE
AT IFURRET ITH Hafd|

(37) THIGA Ia-
(i) & TSIl ITeBTecT? (TI:/Sofeh:/ITAHT: )

3.

(ii) I FelleATlel STafea? (FHeA/FHAAA/T )

3.

2. YU 3Wd-

(i) STeTeRT: Hl: IEH RS Ted?

3.

(iiXrt SefehT: T HAfCA?
3

9.d R 3R @EfFa 3fa o Ry sfa Rdvovery Resaae Fa?

3.




10. IaFTeAFAr: TUETER 9fa vE widenr i Rf¥an afqimsewa: aqfed o R
Reaeurenia a=q-

4/10,514¢d UTeh
fgeelr - 26
: 16/4/2024
SEIRIC
AT TR,
.o dr. faeare:
AT IRA
3feRofiaT: #Hglear:,
BiECe] 3T 7 31 TET: IEA| 37T UTSRATAH 3T o
FATH | AGHH IMTAA: 3TGHIA: JEIdH sfa ard|
KIIGIECUREI L E
FdIoT HAR:
TR ATE:
3rSTHT et

HASSET: - HIATH, [deeT#, ST, [Gsieaaed, iearse: |










D.A.V. MODEL SCHOOL, KSTP, ASANSOL
HOLIDAY HOMEWORK (SUMMER VACATION)
SESSION: 2024-2025
WORK SHEET NO.:- 1

SUBJECT: HINDI (3" Language) CLASS: VIII

Name: Roll No.: Section:

1) SFqd AGIRT F 9gHF & T Gl F e fAf@w)

Jodl STTTEAT & 3l Yl I AT Y Sod AT & S A&, FHUST, FAhlT T AT,
RIS, fReTdr, S va 3l & 3cureal 7 Fr el g s 3t seafa aed &
fama X §, SITHEAT 38 HId H Tl A §1 TGl AAREAT & FAGT FART A
Sgd A E ST ¢ AT A F WS 6T &d| Todl SAaear & FHeT el TN
YO 386 G@TS & 81 W 3cutes 3R 3iic@ifaen e ol STHaedr & A 790y
ﬁaﬁa’r%‘%lsﬁmﬁqm‘iaﬁwmﬁw&g@m&wuq@mﬁuﬁwﬁaﬁmam
¢l 3% o o & fow fhu av |8t 9 & SeeT 3R I SIeen|

%) dGdl STATEAT of [hd YR FHr TATIN FI S &I g2

) g S FT 78 TS a?

) Fodl STHAEEAT & FHA ST & I TP TS aa &2

o) ‘AN’ Qqeg HT Tar T &7 g7

3) &l ¥ F Tl STATEAT & THAA A90T AY & & 72

2) FFfaf@a asat & e asg faf@v-
&) TR - ) TR -

3) Pfaf@a asal & gua sgawy AfET-

&) HeFhl - ) 3’y - ) TFY -




4) T 3R FA FIFT holel dlel Ueh-Ueh Usq T@T 3R 38 T =50

)

5) Teh Sifaards 3R Te cafFaaras T s @ 3961 T d18T|

(O

6) frafaf@a weat & 3cax 20-25 orsal # fAf@vw -
i) 319 GIST sTgr gIdT, df &4T giar?

ii) TGR gl cilel faAvare faf@u|




D.A.V. MODEL SCHOOL, KSTP, ASANSOL
HOLIDAY HOMEWORK (SUMMER VACATION)
SESSION: 2024-2025
WORK SHEET NO.:- 2

SUBJECT: HINDI (3" Language) CLASS: VIII

Name: Roll No.: Section:

1) G AT F 9GH & AT oAl & W FFeq gaa 39w foenar aemgo|

TR # Go8 Hogdlel a&] HAY ¢ Fifeh gfaar T ifeeprer a&g3it I Tera-aeram ST Hehdl
g, W GHI FT T &70T 3 deT UTar Fidd & a9 & gl gl IAI & did o W Afad &
I IS & el o gl glar| faeardt & fav o @ag &7 3R o it #@geca g
facardt Shaet &1 3gged § RIS e S| §HT & 39T ¥ & 8T wred &7 S Hehedl B
St faezmeif 3rqe TgHeT THY Yel-3he, HIST-AEA AT 3T & @ &d § 3 Siiaed - I8dd
Ed &, Fife I 3 6T gred e F afRd | A & 3R Shaa & 3=afa 787 ¢ gl
HIST T heied § b ST 10T ol 91T g, 3oTehl Ticl el & Sod St 3719 §AR A1HA &, 3HeAl
HEIANT Y|

(F) GAT F Fa@ HACT I& FAT Fgl AT 872

(i) 3HPT TH &T0T 871 TCTAT-SGRAT AT ST FehTT|
(i) FAT IfFd & gq A g

(iii) THT & FfFd & S T AGT gl TAehdT ¢l
(iv) HIST 38 GHI &I I I Aeh FehcT|

(@) Reardt e 1 g7 Far 872

(i) SiaeT T @I qerel (if) T3 AT LA T AT

(iii) GHAT Wol-e AT (iv) Trear gread e

() fagardt Sfaer #x F4t gyoard W@ 872

(i) i & aga Agaic g B (il) & PA THT AT 7EN W F fSaT §

(iii) & GHLT AT Yo Fled H o1 B g (iv) I 39T &8 91T # o6 @ o
(9) ¥AT & Woy A AFT F FIT Fdcy adMET AT 7

(i) g +Y

(ii) FeT SEMHL TaTs Y|

(ii) T FAT & IR F GATAT & P TAAT HAT FHT HGUAT HY|

(iv) 3% gl WX faRmer o g, 9el: 9 |




(3) 39FA IGARM FT 39gFa MéF gfad|

(i) THT T FguaT (ii) T 3R AT
(iii) faezmdt 3R @#y (iv) 3 e |AT

2) farafaf@a weat & 3cax 20-25 orsal # fAf@v -
i) 93 gFR AT § Far

ii) 87 39e 9T W FIF0T W@ & AT FI7-3a1T =er a1fgu?

3) =faf@a weat & 3cav 30-35 orsal & faf@v -
i) 8H Hide aRTEUTT & FHAZERY 3R Jefamt @ wH o« gy, F34i?

ii) I AP HRAT TTdT SANFT TA TSE T 3oeIiad & [T FH FX, dT FIT FaM?

4) EAHSTT HT Th ThYS AATYA AR HITeTu-
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